2nd Semester Cumulative Test
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 1.  Which location is likely to have the greatest water pressure, the coldest temperatures, and the least number of living organisms?

Location 1

-------------------------------------------------------------------------

2.  What happens to water during EVAPORATION?

Liquid water changes to water vapor
-------------------------------------------------------------------------

3.  In the water cycle diagram shown below, what part of the water cycle does point X represent?
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 Condensation

-------------------------------------------------------------------------

4.  Most of Earth’s water leaves the ocean through evaporation and returns to the ocean through_____

Surface runoff & Precipitation
-------------------------------------------------------------------------

5. Which factor is the MOST important in forming clouds?
The cooling of air as it rises
-------------------------------------------------------------------------
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6.  Which circle graph most accurately show how much of the Earth’s surface is covered by water?
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-------------------------------------------------------------------------

7.  In the illustration below, a cylinder is floating on the ocean.  What will happen to the cylinder (can) as the wave moves from left to right? 
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Cylinder will move up and down in a circular motion
8.  As a warm air mass slowly passes over a cold air mass, the warm air cools, the moisture condenses, and clouds form.  What will most likely happen next?

Rain will fall
-------------------------------------------------------------------------

9.  On weather maps as shown below, what do the triangles along a weather front represent?
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Cold air moving Southeast (SE)  
-------------------------------------------------------------------------

10.  Which diagram best represents the air circulation pattern on a hot summer afternoon at a coastal area?
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-------------------------------------------------------------------------

11.  What happens when two air masses with different density and temperature characteristics meets?

The cold air mass will push up the less dense air mass. 
-------------------------------------------------------------------------

12.  How does the warm current along the east coast of America affect the climate along the east coastal areas?  

The climate will be warmer than inland
-------------------------------------------------------------------------

13.  The air mass (A) formed over a polar region and air mass (B) formed over a tropical region. Which type of front is represents by air mass A?
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Cold front

14.  Which will cause a hurricane to decrease in strength (become weaker)?
Moving over a continent or cold/polar water
-------------------------------------------------------------------------

15. Which statements are TRUE about hurricane and tornados?
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II and III Only
-------------------------------------------------------------------------

16.  Which statement best describes the Coriolis Effect?

Earth’s spin causing winds and currents to curve
-------------------------------------------------------------------------

17.  The top of a pole at a beach was visible at 3pm, but later became submerged at 9pm.  Your friend says the pole sank because the sand became loose at night. You disagree because you learned in your science class that the pole became submerged because of…
High tides caused by the Moon’s gravity
-------------------------------------------------------------------------

18.  Why does the moon have a stronger effect on the tides on earth than the sun, even though the sun is much bigger than the moon?

The moon is much closer to the earth than the sun

-------------------------------------------------------------------------
19.  At which two points are the LOW tides occurring in the figure below?

[image: image12.png]



At points 2 and 4

-------------------------------------------------------------------------
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20. Which type of tide alignment is illustrated in the figure below?  

Spring tide

21.  Which season best describes the Northern Hemisphere in the illustration below?

[image: image14.png]



[image: image15.png]



Summer

------------------------------------------------------------------------

22.   Some parts of the earth are warmer and other parts are colder.  What is the reason for this uneven heating of the earth?
The sunlight strikes some parts of the earth more directly than other parts.  
-------------------------------------------------------------------------
23.  Which statement correctly explains why the northern hemisphere receives more sunlight than the southern hemisphere in the month of June? 


The Northern Hemisphere is tilted toward the sun
-------------------------------------------------------------------------

24.  If the earth’s tilt angle changed to a different angle, what would happen to the seasons?

Seasons will change based on the tilt angle
-------------------------------------------------------------------------
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25.  According to the model below, what season is occurring in the Southern Hemisphere?

Summer

-------------------------------------------------------------------------

26.  Earth is orbiting around the Sun.  What is another word that represents this motion?
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Revolution
27.  Pictures of a planet were taken over 4 hours as shown below from 1pm to 4pm.  
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Which inference can be made based on the diagrams?
The planet is rotating
-------------------------------------------------------------------------
28.  Which moon phase is occurring in the alignment of the earth, moon and the sun as shown below?
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-------------------------------------------------------------------------

29.  The Earth, Moon, and the Sun are aligned as shown. Which moon phase would you see from the Earth?
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Waxing Crescent Moon


-------------------------------------------------------------------------
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30.  You observe a first quarter moon

as shown on the right.  Which moon 
phase would you see one week later?
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31.  Based on the diagram shown below, which moon phase would be seen by people on Earth?

New moon

-------------------------------------------------------------------------

32.  Which model correctly represents a LUNAR eclipse?
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-------------------------------------------------------------------------

33. What event does the diagram below show?

Solar Eclipse
-------------------------------------------------------------------------
34.  This theory states that the universe began with a tremendous explosion and that it continues to expand?

The Big Bang Theory     

-------------------------------------------------------------------------

35.  Nicolas Copernicus showed that the planets revolve around the sun.  Which model does this represents that the sun is at the center?

Heliocentric

------------------------------------------------------------------------

36. In the geocentric model, which motion would occur?
The sun would revolve around the earth
37.  The symbols represent different regions of space.


Which diagram shows the correct relationship between the four regions?


-------------------------------------------------------------------------

38.  Compared to the Earth’s Solar System, the Universe is inferred to be______

Older and Larger

-------------------------------------------------------------------------

39.  Between which two planets is the asteroid belt?


Between planets D and E
-------------------------------------------------------------------

40. Which statement best describes the geocentric model of our solar system?

The earth is located at the center of the model. 
-------------------------------------------------------------------------

41.  List the solar system, universe, and milky way galaxy in order from smallest to the largest?
Our Solar System, Milky Way Galaxy, Universe
-------------------------------------------------------------------------

42.  The diagram below represents a portion of our Solar System.  In addition to Earth, which planets are represented by the diagram?

Mercury & Venus

43.  Based on the planet data chart below, what is the name of planet X?  

Venus
-------------------------------------------------------------------------
44.  Which planets are NOT gas giants?

Mercury, Venus, Earth & Mars
-------------------------------------------------------------------------

45.  Which letter represents the planet Saturn?


Letter F 

-------------------------------------------------------------------------

46.  You observed the night sky through a telescope and saw a bright circular object with a very long tail.  What object did you most likely see?

Comet


-------------------------------------------------------------------------
47.  Which planet is the hottest and why?

Venus; it has an extreme greenhouse effect
-------------------------------------------------------------------------
48.  If the time it took Earth to rotate once increased, 

A day would be longer

I�
Hurricanes form over artic oceans�
�
II�
Thunderstorms can occur along cold fronts�
�
III�
A funnel cloud becomes a tornado when it touches the ground�
�






Planet�
Rotation Period (Earth Days)�
Distance from the Sun (km)�
�
Mercury�
59�
58.000,000�
�
Mars�
1.03�
228.000,000�
�
X�
243�
108.000,000�
�
Jupiter�
0.47�
778.000,000�
�
Earth�
1�
150.000,000�
�
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